
'l'rnep4riar+

nrTaH|19

MeHrc

llL.:p,tgisas ii):,/i;-ra: 'l ? ner H srapuJe

3a nrpax

i\ii
p*r

['i ;]t1 i,tet{e a ei ilt1 e
{:\ ii f" "r -1

ts*c
Il c llr'.1 r.1,.,1,

Uena.
p

flur.i{esbre B-Ba, r Sriegr.

Nfia'l

E.lTAMiif.Jbi, lilf filhilepar gi{gre E-Bp,,tq.r;:

6enril+ }Kr"'prt Yr.rlego.t gi 81 B2 il 6
D

{ td Ki:;l
P l'/g re K Ii l+l1.,I

$e
i hlKi)

t-

hl1.rtptt1;,:4
DOIltli'"\J:UN

12 46 l_.lu 4.36 ?7^6S 59.8C 0.01 1n 3D2 1nR 10.00 22.68 5.bu c.sc u^31]
,t D;i 0!t

5i1!
Xr*oi
ll $ier*'rqit itli,]

50 00 4.20 1 P,n 24 3C 118.00 0.0 i lc0 1 nc UUU J 0.0c .r? An 7.00 1.55 0c0 '].$c ? ni1 B.0r

,fiSiilnll
cPB)i{ilu
:iI,:ij.il14 S l\1r,1

i00 00 12.95 040 0 ACl LA8 45.C0 1.02 {.c0 0.01 l.4c 0.00 10 00 8.00 ?.00 'r ^00 278 00 z0s c.3c rr ar

rl ':

:iafl+ !:4fli1[ ri3

?ijq\t,!rii ,:*
*l.re t'!.uctt
Ir,1 }lsi 1;.r1.l7':,

2tc 00 7 1 .6'8 30.0c '16.'t ? 30 ?3 4S1 f;i
':^.1G -r 4fl 3.4e I 8.3 343 72 412.77 4 \< t .4,) ;92"11 t./.1* 55.01 i fi{.

tl*u i: caxapcpr
ivi d.j'')

200.0* 1.36 0.r 0 003 J 4.99 56 85 t.00 UUU 0G0 1nn i0{ 0.00 c.00 0.0c 00c 0.09 0.u0 c.c0 fi.CI3

06eA

iii
:Ql-i

I ti:t1[{aiJ$33ii'/B
ir.n+n1a

Bec
ir0pqfie, Qena,

p

ilitqeeur-e a-se, r Sxepr
q€ H H OCTt),

llPiefi,

Batrali,tnHs, l,rr MilXeFanuuaie ts-SA. Mi

Fenxir Xr+p;t Vrnesogur g 9l A E
IJ

a*rr)
Ca a lt'r4g Fr' K

I

n4Krl {virr I

s19

$r:.f {i(, T Lt

$)Sjtesiii ii:: ti:
*]l.Ji"iE i r i r,r :.ir,i

ii .)ir)'ri i ::\i i I1|ri]!1

i: Ti,i\ilii i.JL.{

Dr::f,a:()r,r irCl5;'

i cri.Lr0 29 S0 9g? rt 1s 1 'L 8'3 130 t-4 0.01 tni 0.6i ft fi"z' 1.46 DCC 4n 4 Q 8.GB 367 ij 31.DU \ 1?) D z,li s.0$

[: l1i 's-lri:l;t ir:ril
ll()C i;r f'",'l 3C'i

200 00 17.35 4 91 8.14 47.S3 268 7t 0.03 n.03 000 I 0,1 n ?.c 0.14 3,48 82.62 l69 56.79 1.0'1 10.96 s.c0

l{sr,.u;c; r.rl

aA{9t.1
1"1.xfi':ppyr{ror
fr1 :14?

2BD 0,3 5.43 u-5 / u.n0 32.?4, JZ5 C5 3Dn 0Dc 0c0 nn.} 3.00 0.Cr0 c.00 ir 00 c.00 0.0r) 00s ct0 0.c0 30c

,'<..r i:i;
ji;t;r-rriit','ril 4G.fl0 2.58 L ]L 0.52 \0.?:s ea.J0 1.OCI i0e 0.U.n 0,cc 1ftr 0.0G ,+.zv 1&.8C 5.84 j'.cu 0.J0 n0t c-u0 s.0l

1nG Xne$
ltir 1u:"i t4l ii&ttit

i0.un0 10€ i53 0.16 9. rr2 .+i CU 0.fi2 c.01 0.00 u,00 JA2 0.00 4.00 13.0C 2.80 )?? c00 0.s4 r.f0 U.UU

3

Citr:al ir3

6e;Ioii*qar i"-ri,t

xS|,IyiiTi,.: h.'l -45

100.0s 4.69 14$ 508 8^$S 88 C7 n n't ].c4 38,C1 J.21 2^32 0.0c. +4,57 '16.4? .\ AI 235.7Q 3.87 'J l3 JAl

r'i.13

uirrt
N:'C {l-5A tl l)3i''i!
r-: rrpl'r:*ri 1,,t1 -.9?

25[ 00 It g;l R05 8 34 14 23 136.3I 0.05 c.04 18.00 3.33 ZJA ,J.00 J.3U 4fi rn nn aE 3.65 .1 R q6 1. (\.) 1.78 a ill


